NAME DATE PERIOD

Skills Practice
Dividing Polynomials

Simplify.
10 6 12x + 20
L5 6ot 277 3S
15y3 + 6y% + 3y 12x2 — 4x — 8
4. 3y 6‘6?*3‘0 t

5. (15¢8 + 5g2)(5¢%1

S L ST

6. (4f5 — 6f% + 1213 — 8f2)(4f2)~1

2 a + l/ a ’{)‘ ) N
d t fo £ 389, raF-a
7. (6% — 9jk2) + 3k 8. (4a2h? — 8a3h + 3a%) + (242)
> .?
9.(n2+ 7n + 10) ~ (n + 5) 10.(d2+4d +3)+(d +1)
Nt A at 3
11. (252 + 13s + 15) = (s + 5) 12. (6y2 + y — 2)2y — 1)1
Ast Yt
18. (4g2 — 9) + (2% + 3) 14. (242 — By — 4) + (x — 3) i
= [ S
q9- 3 Axtt - f-3
2 4 by — 12 2?2 — bx — 4 0
18T 655" =
/
U+ %+ Bly-2 Q- [x-3
17. (302 — Tv — 10)(v — 4)~1 18. (34 + 418 — 322 — Bt — 20)(¢ + 4)~1
VS + 104 B>kt -6
19.23—22—6 20_2x3~x2:19x+15
y+2 x—3

Y - Byt e ~ Byra

21. (4p8 — 3p% + 2p) + (p —

tp* tpt Dt Jpon

23. GEOMETRY The area of a rectangle is x3 + 8x2 + 13x — 12 square units. The width of

A +5x-4 + Bfe-s

22. (8¢t + 6¢2 — 2¢ + 4)(c + 2)71

3¢ > —o t E/C{"ZZ)

the rectangle is x + 4 units. What is the length of the rectangle?
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